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Instructions

® Use black ink or ball-point pen.

@ Fill in the boxes at the top of this page with your name,
centre number and candidate number.

© Answer all questions,

@ Answer the questions in the spaces provided

- there may be more space than you need,
© Calculators may be used,

® If your calculator does not have a m button, take the value of z to be
3.142 unless the question instructs otherwise.

Information

® The total mark for this paper is 100

@ The marks for each question are shown in brackets
- use this as a guide as to how much time to spend on each question.

@ Questions labelled with an asterisk (¥) are ones where the quality of your
written communication will be assessed.

Advice

@ Read each question carefully before you start to answer it.
@ Keep an eye on the time.

e Try to answer every question.

@ Check your answers if you have time at the end.
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GCSE Mathematics IMA(
Formulae: Higher Tier

You must not write on this formulae page.
Anything you write on this formulae page will gain NO credit.

. . |
Volume of prism = area of cross section x length Area of trapezinm = 3 (a + bk

r b >
4 1
Volume of sphere = gm‘3 Volumie of cone = gﬁri’h
Surface area of sphere = 472 Curved surface area of cone = ar/
N
/ [ |
In any triangle ABC The Quadratic Equation
c The solutions of ax? + bx + ¢ =0

where a # 0, are given by

b a b J0* - 4ac)

2a

L]

Sine Rule —%— = b ¢

gind sinB  sinC

Cosine Rule g* = 5% + 2 2bc cos A

Area of triangle = % absin C
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Answer ALL questions.
Whrite your answers in the spaces provided.
You must write down all stages in your working,
1 Use a calculator to work out
V204
6.2 x 048
Write down all the figures on your calculator display.
Give your answer as a decimal.
G4 C
1517656799816695
(Total for Question 1 is 2 marks)
v
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(a)
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Reflect shape P in the line y = x
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(b)

Describe fully the single transformation that maps triangle A onto triangle B.

-

(Total for Question 2 is 4 marks)
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A company sells boxes to factories.
Fred buys boxes.

The boxes are sold in packs of 1000
Each pack costs £193.86

Fred orders 3 packs of boxes.
He gets a discount on his total order.

The table shows the discount he will get.

Total Order Discount

£100 - £300 5%

£301 - £400 10%
£401 and above 15%

Work out the total cost of the order after the discount.
You must show your working.

3w 193.586 = 5%).98

1 9% A SOUNAY

%) 9% L\ =67.23 )
oo
25| 56
- %72
Lol -2 L,

S5 902

(Total for Question 3 is 5 marks)
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4 The table gives some information about the birds Paula sees in her garden one day.

Bird Frequency
Magpie 15
Thrush 10
Starling 20

Sparrow 27

Complete the accurate pie chart.

A

(Total for Question 4 is 3 marks)
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25 miles 25 miles

O O
A C

& O

A, B and C are 3 service sfations on a motorway.

AB =25 miles
BC = 25 miles

Aysha drives along the motorway from A4 to C.

Aysha drives at an average speed of 50 mph from 4 to 5.
She drives at an average speed of 60 mph from B to C.

Work out the difference in the time Aysha takes to drive from A4 to B and the time Aysha
takes to drive from B to C.
Give your answer in minutes.

Nlbe Rz 1S5 S0 =

20 -25:=5 5

T e, THITIULES

(Total for Question S is 3 marks)
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Diagram NOT
accurately drawn

ABCD is a parallelogram.

Angle ADB = 38°,
Angle BEC = 41°.
Angle DAB = 120°.

Calculate the size of angle x.
You must give reasons for your answer.

S oanh oo 28 =158 (roles
< ABD = e ve | @&M&

. (:‘
50°

/. R0C = Pfr\a\& OMorncke Vo AR D
_— 2:2’(;)

<, DéQ g I%\SQ - G (5\(\65\,@ < ON Q\S\'mugw'
= \?ch: bing eched mg? Ve VS0

W lesS o .H": Ga‘\%\ﬁ,
Sl e Yoy \RO

D = \q°

(Total for Question 6 is 4 marks)
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7 160 cm of gold wire has a weight of 17.8 grams.

Work out the weight of 210 cm of the gold wire.

17,8 = 160 = O 125
O- {1125 % 210 = 93 2675

(Total for Question 7 is 3 marks)

8 (a) mis an integer.
~l £n<4

List the possible values of n.

(2)
(b)
O @
I ] 3 I 1 | t I 1 i I »
S 4 3 =2 -1 0 1 2 3 4 5 x
Write down the inequality shown in the diagram.

-l o &3

(2)

{c) Solve p-2>5
AL
A ( )
2477
& . - .
230 5,7
375 w
3 7

. M B

(2)

(Total for Question 8 is 6 marks)
\, v
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9 The stem and leaf diagram gives information about the numbers of tomatoes on
31 tomato plants.
0|8 '8 9
1|1 1 5. 5.,
2 @ %\ 2 6 7 8 8 Key: 517 =57 tomatoes
310 @ 505 71T 9
dl2 2 3 (s s s,
511 1 3 4 7.
(a) Work out the median.
\(L?Uﬁt\ \/ O\\ WO
(1)
(b) Work out the interquartile range.
LQ = 8™ Veluwe = 2]
Ua = 20" Yale =45 ~
FO= 0521 = »
(Total for Question 9 is 3 marks)
\, 2
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#10 In the UK, petrol cost £1.24 per litre.
In the USA, petrol cost 3.15 dollars per US gallon.

1 US gallon = 3,79 litres
£1 = 1.47 dollars

Was petrol cheaper in the UK or in the USA?

.y

\\\\(v& CONE = &

lus Golorn = 2 /q > | AW

Vo2 Gralow s POWNAS 2 e o) b 7

o . o,
\);g_\{-(@\ & On QAR AN k P

(Total for Question 10 is 4 marks)
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11 The diagram shows a cube and a cuboid.
Diagram NOT
| accurately drawn
g 2
x x
I 5
All the measurements arc in cm.
The volume of the cube is 100 cm® more than the volume of the cuboid.
(a) Show that x* — 10x = 100 .
\ / 0\\,& O O\)6 C\ }«]\3 3 e Oy e B G A R
Volete Lx Qoo = G o2 - DT
2 e

=~ \0oe = \0O @
(b} Use a trial and improvement methed to find the value of x.

Give your answer correct to 1 decimal place.

You must show all your working.

§ 2 { o ‘f\t W
)
X j)(; - O - \OCJ Q{,,UV\) |

S' | o f»(\C‘)s« )) /a Lo
G) - é%““(oy(a)::\gé | \/\\E\\f\

St ¢ 5% (xS SAN3 T | i
Sa % "332' _ (XDX%B) :’:,O\C;i) 0?375 L..,.,.Cf‘u\)
S Ly Sy - (10 xS (02 | W AN

)

(Total for Question 11 is 6 marks)
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12 The frequency table gives information about the times it took some office workers to get
to the office one day.

Time (f minutes) Frequency
0<£< 10 4
10<7<20 8
20 <1< 30 14
30<1 <40 16
40 <t < 50 6
50 <1< 60 2
50 )
(a) Draw a frequency polygon for this information.
B
25
20 |- A A
15)F sRgz
Frequency ¥4
10 7
5H4y
=
R
0

0 10 20 30 40 50 60 70
Time (minutes)

(2)

(b) Write down the modal class interval.

Mogr Corenon

(1)

One of the office workers is chosen at random.

{c) Work out the probability that this office worker took more than 40 minutes to get to

the office.
GA 7= S O
% - Q ‘\ Q’) .......... A i (2) ....................
50

(Total for Question 12 is 5 marks)
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13 The diagram shows a solid triangular prism.

Diagram NOT
accurately drawn

12 em

5 cm

The prism is made from metal.
The density of the metal is 6.6 grams per cm?.

Calculate the mass of the prism.

\Aﬁém ~ 20 et
2 el

RO x5 LSO e

LSo X 6.6 = 29 7OGX

(25)\7() grams

(Total for Question 13 is 3 marks)
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14 (a) Factorise X2+ Tx

o (oer])
i
\ 6 ey
(b) Factorise ¥ 10y + 16 \ [ﬂ% L
Ly
f)

(ubw/\ (‘«3”’63) (k 2\(v\ 5.

*(c) (i) Factorise 2+ 5142 L, \

(2t N 2)

(ii) ¢ is a positive whole number.

The expression 22+ 5¢+2 can never have a value that is a prime number,

Explain why.

zmgngw?)(m\}

Produck g,,,w\r\@\g (\wN\bQ
@0@}\ C“JQ v \% \C%‘

otal for Question 14 is 6 marks)
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15 ABCD is a trapezium.

4 Diagram NOT
accurately drawn

B
AD=10cm
AB=9¢cm
DC=3cm

Angle ABC = angle BCD = 90°

Calculate the length of AC.
Give your answer correct to 3 significant figures.

- - " * 2 ) ,L-..\‘"/ o oo
aly GE 0" O A s =N

e .
100 -36= bl G\ v Gl = DO

O =6y

NS

) Vool
pg C-%

(Total for Question 15 is 5 marks)
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16 Bill’s weight decreases from 64.8 kg to 59.3 kg.

Calculate the percentage decrease in Bill’s weight.
Give your answer correct to 3 significant figures.

<.

DD

il 2 OL0BLE TS
LS |

0.0LIIESLANOO 4 (B /6. B}

(Total for Question 16 is 3 marks)

17

Diagram NOT
accurately drawn

H

32 cm ©em
60°

Calculate the value of x.
Give your answer correct to 3 significant figures.

SOV M Ton

AV RN

(Total for Question 17 is 3 marks)
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18 (a) Complete the table of values for y = —

X 0.5 i 2 3 4 5 6

y \. 6 3 2. L5 1. 1

)

o
=

o

6
(b) On the grid, draw the graph of y = . for 0.5<x <6
' (2}

(Totai for Question 18 is 4 marks)

o
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19 Rob is learning about the planets.

Rob makes a model of the Sun.
He also makes a model of the planet Jupiter.

Rob is going to hang the two models in the school hall,

Rob wanis a distance of 16 m between the two models.
The real distance between the planet Jupiter and the Sun is 8 x 10# km.

Work out the scale Rob should use.
Give your answer in the form 1 : »

) N . f{:?) \ O“J é(_l

\6 L € x lob

216 (4 4o 0es o

Vo S x\0 |0

|9 10

(Total for Question 19 is 3 marks)

20 Simplify x;—l x-;—3
. - Comp 1 @
3o} | 7 (5e) SO
C) S C) (2?

oA AN 2ocAh 6

(Total for Question 20 is 3 marks)
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21 Here are seven tiles.

8180

Jim takes at random a tile.
He does not replace the tile.

Jim then takes at random a second tile.

(a) Calculate the probability that both the tiles Jim takes have the number 1 on them.

(b) Calculate the probability that the number on the second tile Jim takes
is greater than the number on the first tile he takes.

Lo
€ s L™ I k.w)..;) '
-2 T ‘) N (
2 7 & L7
\

NI

\\ L. el ey L‘;l / (3)

(Total for Question 21 is 5 marks)
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22 (a) Solve 224+ 9x-7=0

Give your solutions correct to 3 significant figures.

e - B bec

L2 00676

ov -

2
7

(b) Solve +—-7=0

e | o

SAG

€N v

D0 r0, 66 o

3

Give your solutions cotrect to 3 significant figures.

B

Y “u? X
. ‘_N___.hsﬁz.‘ 4 ®\ 3 & Zﬂ - O
7w = q G =2 = O

o= VB 7 2)
o8

= O

220193

(2)

(Total for Question 22 is 5 marks)
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23 The diagram shows a pyramid.

A Diagram NOT
accurately drawn

i0cm

BCDE is a square with sides of length 10 cm.
The other faces of the pyramid are equilateral triangles with sides of length 10 cm.

(a) Calculate the volume of the pyramid,
Give your answer correct to 3 significant figures. \

L AT
Velawoae = '&3 v G 06 v:._% oo ge S inen S >
2

\J% (\O x \C) N Sf;é Sk
)

,ﬂ\i m\ okt o\\fj}y\gi

= L 00 x 532

3 e "'U 1o + 100
e = §12 o) 2= 7o
= 236 - Jioo St = eo 7
= \Yg% N2

= $2sie. -
)

(b) Find the size of angle DAB.
(;\

?,QQ e AOIO 2 A\OG - 260 C Cff‘:;@
= 200 COSM 20

Cosn =0 B2 9p

Mo o0 04
. . 7 o gt o
02 iyl gheCosk ¢ 1D .
() P a 16" o« 200)(16) cost (2)
(Total for Question 23 is 6 marks)
\. y
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24 The table gives information about the heights, /» metres, of trees in a wood.

Height (4 metres) Frequency %frce\ C»\g,,\s{\\/]
0<h<2 7 72535
2<h<4d 14 \L :: 7 ’;
4<h<8 18 S R T
8 <h< 16 24 Il S 6D

16 < h <20 10 os Le=25

Draw a histogram to show this information.

F-

?S..

v

L O v \G .0

(‘Total for Question 24 is 3 marks)
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*25 The diagram shows the triangle POR.

I Diagram NOT
accurately drawn
2x em
30°
F xcm Q
PO =xcm
PR=2xcm

Angle OFR = 30°
The area of triangle POR = 4 ¢m?
Show that x = /24

Q. ::,ML; ve O X 1LOc #S IS0

P

. ZX?M 20
A=) e
Z.

e: Dazﬂﬁﬁ Zm':}f

(Total for Question 25 is 3 marks)

TOTAL FOR PAPER IS 100 MARKS
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